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· Cycling of Matter (Biogeochemical cycles)
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Nitrogen Cycle
[image: image5.png]Time

S}

uopwmdog

a

wopwmdog

Time





· Human Activities and the Environment

· __________________– because of burning fossil fuels, carbon dioxide is added to the atmosphere causing global temperatures to rise.  This has already contributed to melting of the ice caps that will cause sea levels to rise.  This will affect cold weather organisms and cause drought.

· ___________-use of CFC’s has produced a hole in the protective ozone layer, this allows more UV radiation to reach earth’s surface affecting species.  The hole is shrinking.

· Overpopulation-leads to:

· ____________________________________
· _________________due to construction (roads, buildings)

· Loss of ______________because of habitat destruction/overfishing/pollution
· Pesticide Use- many chemicals used to kill insects remain in the environment and some have been shown to cause cancer/birth defects.

· ______which was banned in the 1970’s, still remains and is still used in some countries.  

· Rachel Carson wrote “Silent Spring” that details how DDT has accumulated in birds and causes them to lay fragile eggs, lowering their chance of survival.  

· _____________- harmful chemicals build up in higher trophic levels

· Phytoplankton (  small fish  (  larger fish (  birds  

· Classic example is __________ in tuna( birth defects!!         

Use the diagram below to answer questions 1-4.


1.  What is the function of bacteria in this food web?


a.  decomposers
b.  producers

c.  primary consumers

d.  secondary consumers

2.  If these organisms were arranged in a food pyramid, which organism would have the least amount of total energy available?


a.  coyote

b.  insect

c.  lizard

d.  shrub

3.  Which population would increase most if the insects were eliminated?


a.  decomposers
b.  producers

c.  primary consumers

d.  secondary consumers

4.  Which of the following populations begins the flow of energy through the food web?


a.  coyotes

b.  insects

c.  lizards

d.  shrubs

5.  A community in which barn owls and snakes consume only mice is being observed.  If the number of snakes increases, which of the following is most likely to happen first?


a.  The barn owl population will increase

b.  The mouse population will decrease


c.  The barn owl population will decrease

d.  The mouse population will remain the same

6.  One bird species that feeds on large seeds nests in the same tree as a bird that feeds on small seeds.  How are the birds able to coexist?


a.  They occupy different ecosystems


b.  They occupy different niches.


c.  They occupy different communities.

D.  They occupy different habitats.

7.  Harvested almost to extinction, a sea mammal receives “endangered species” protection several years ago.  Which graph most accurately represents its history and the desired outcome from protection?


8.  Deer share the open plains with other grazing animals and predators.  Which of the following would lead to a decrease in the deer population?


a.  A reduction in the predator population.
b.  An increase in the number of other grazing animals.


c.  A reduction in the grazing animal population.
d.  An increase in restrictions on the hunting of deer

9.  Which interaction best illustrates the concept of mutualism?


a.  aphids feeding on rose leaves.
b.  nitrogen-fixing bacteria in root nodules of legumes.


c.  infectious bacteria living on the blood of a host.

10.  In the carbon cycle, carbon is transferred from animals to plants by which of the following?


a.  carbon dioxide

b.  oxygen

c.  sugars

d.  water
11.  By what process is carbon dioxide removed from the atmosphere?


a.  combustion


b.  decomposition
c.  respiration

d.  photosynthesis
12.  Which of the following statement about the nitrogen cycle is true?


a.  Although nitrogen is the most abundant atmospheric gas, plants cannot use it from the air.


b.  Adding man-made fertilizers to farm fields will take needed nitrogen from the cycle.


c.  The occurrence of lightning takes extra nitrogen molecules from the atmosphere and the cycle.


d.  Bacteria located in the soil trap excess atmospheric oxygen and help it enter plant roots.
13.  Which of the following is a sequence found in the nitrogen cycle?


a.  nitrogen in the soil (  air(  plants(  animals


b.  nitrogen in soil(  animals(  plants(  fungi


c.  nitrogen in air(  plants(  animals(  bacteria


d.  nitrogen in air(  bacteria(  plants(  animals
14.  When deforestation occurs in an area what immediate effect does this have on the water cycle.


a.  More precipitation is formed.


b.  There is less runoff water.


c.  More water is returned to the atmosphere

d.  Less water is returned to the atmosphere.

15.  In general, which trophic level has the most energy available to it?


a.  producer

b.  primary consumer

c.  secondary consumer
d.  tertiary consumer
16.  Which of the following is an example of ecological succession?


a.  spring followed by summer

b.  tadpole becoming a frog


c.  meadow replacing a pond


d.  predators eating prey
17.  The correct order of stages in the primary succession of a dry land environment is illustrated by which of the following?


a.  bare soil, shrubs, hardwoods, pines

b.  shrubs, mosses, pines, grasses


c.  rock, grasses, hardwoods, shrubs


d.  rock, lichen, mosses, grasses
18.  What is the main suspected environmental problem associated with the burning of fossil fuels?


a.  depletion of fresh water


b.  depletion of ozone


c.  global cooling



d.  global warming
19.  Which of the following global concerns is indirectly responsible for all of the others?


a.  waste disposal
b.  resource depletion

c.  overpopulation

d.  poor sanitation
20.  Which statement describes why pesticides are said to “move up the food chain”?


a.  Pesticides have a greater effect on larger animals than on insect.


b.  Top predators often accumulate the pesticides contained in the bodies of their prey.


c.  Birds and predatory mammals are not affected by pesticides.


d.  Pesticides kill insects and other target pests before they can absorb the poison.

21.  Why is biological control of pests considered to be better than chemical control?


a.  It is less expensive




b.  It is more expensive


c.  It will not kill beneficial organisms

d.  It is easier to do.

Water Cycle:


Evaporation, _____________ precipitation, transpiration (water loss by plants), runoff, accumulation in lakes, rivers, oceans, _________________.
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Carbon Cycle:


Adds carbon:  ___________________


Removes carbon:  _______________, organic compounds
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Nitrogen Cycle:


Animal and plant remains/wastes deposit nitrogen.  ______ convert this nitrogen into ammonium.  Bacteria can convert ammonium into __________.  Plants can use nitrogen in the form of ammonium and nitrates.  Animals obtain nitrogen from__________
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